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02 RIZHEANEXS 20,000 15,000 5,000
OdTHEMUHXIME S S AR 10,000
2 5,000
< 5,000
OUXZEA=U X 10,000
= 5,000
< 5,000
KNS HAXIXZAS (EX) 1,259,000 3,267,000 A 2,008,000
= 1,259,000
403 UHXSHHSA=0l& 1,259,000 3,267,000 A 2,008,000
= 1,259,000
01 XM A=LE L 1,259,000 3,267,000 A 2,008,000
CIAITH A4 0fl 4 KT KT X2 A 1,259,000
= 1,259,000
ANAMHRNE LA (EX) 2,689,000 2,045,000 644,000
= 2,689,000
403 MtXSHHES A= 0l & 2,689,000 2,045,000 644,000
= 2,689,000
01 XM A=2EE 2,689,000 2,045,000 644,000
LIRS0l KT & 2F A 656,000
= 656,000
ODNSEXGI|FALEDL M AL 2,033,000
= 2,033,000
HUXISXX AL (Ex) 9,177,000 0 9,177,000
= 9,177,000
403 XM SA=0l& 9,177,000 0 9,177,000
= 9,177,000
01 HXSHHMA2E X 9,177,000 0 9,177,000
OFAdHESEIASESS ALY 9,177,000
= 9,177,000
MOISIIAANENS (EX) 2,162,317 1,798,805 363,512
= 1,989,500
< 172,817
308 XXM SOIA 2,162,317 1,798,805 363,512
= 1,989,500
< 172,817
01 IXNHHBANEES 2,162,317 1,798,805 363,512
ONMEIENAANEME XA 1,976,317
= 1,839,500
< 136,817
OsHENSHLALPGHH 2L S S ALY 186,000
= 150,000
< 36,000
MOISIAANAINA 99,000 99,000 0
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